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U4 | ELR | HiELA B
iy Ry T car7 1 T | 71|72 T8 T4 | L | L1]L2]|H|H2
H-500 380 425 650 800 1200 70 | — | 70 | — [1998] — | — | 50 | 300
H-600 435 485 650 800 120/ 70| — | 70 | — |1998] — | — [ 150/ 300
H-700 485 530 700 850 1200 70 | — | 70 | — [1998] — | — | 150 350
H-800 535 580 750 900 1201 70 | — | 70 | — [1998] — | — | 150] 400
H-900 600 645 800 950 120 70 [ 100 70 | 100 | 1998 250 | 749 | 150 | 450
H-1000 660 705 850 1000 | 120] 70 | 110] 70 | 110| 1998 250 | 749 | 150 | 500
H-1100 820 855 950 1050 | 120] 80 | 120] 80 | 120 | 1998 250 | 749 | 200 | 500
H-1200 895 930 1000 1100 | 120] 80 | 140| 80 | 140 | 1998 | 250 | 749 | 200 | 500
H-1300 960 995 1050 1150 | 120] 80 | 140| 80 | 140 1998 250 | 749 | 200 | 500
H-1400 1040 1075 1100 1200 |120| 80 | 150 | 80 | 150 | 1998 | 250 | 749 | 200 | 500
H-1500 1120 1155 1150 1250 | 120] 80 | 160 80 | 160 | 1998 250 | 749 | 200 | 500
H-1600 1340 1360 1250 1300 [120] 90 | 180 90 | 180 | 1998 250 | 749 | 200 | 500
H-1700 1420 1440 1300 1350 | 120] 90 | 180 | 90 | 180 [ 1998 250 | 749 | 200 | 500
H-1800 1505 1525 1350 1400 [ 120 90 [ 190 90 | 190 1998|250 | 749 | 200 | 500
H-1900 1600 1620 1400 1450 | 120] 90 | 200| 90 | 200 | 1998 | 250 | 749 | 200 | 500
H-2000 1715 1735 1450 1500 | 120] 90 [ 220| 90 | 2201998 250 | 749 | 200 | 500
H-2100 2105 1600 150 | 100 | 260 | 100 | 260 | 1998 | 250 | 749 | 50 | 565
H-2200 2175 1600 150 | 100 | 260 | 100 | 260 | 1998 | 250 | 749 | 150 | 565
H-2250 2210 1600 150 | 100 [ 260 | 100 | 260 | 1998 | 250 | 749 | 200 | 565
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CH— I A4 — LR TR (RF7)

B4 mm
A

U4 ST S2 S3 S4 Sb S6 S7 S8 S9 S10 SH
Rl % 2| | 2| H| 2| H| 2| H|BR| |2\ HB|IR2| | R E|R2|E|F| &K
H-500 pe| s |p6| 8 |D6| 8| —|—|-—-—|—-|-—-'—I|—-—I|—|—|—|—|—|—|—|—
H-600 6|18 ID6] 8 ID6]l 81 —| -l =1l=I|l=—1—-"|—|l=|—=|l=1|l=l—=1=-1=1=1|—
H-700 pe| 8 |pe| 8|06l 8| —|—|—|—|—|—|—|—|—|—|—|—|—|—|—|—
H-800 D61 10| D6 | 8 | D6 | 10| — -l =-]l=1=-]1=-1=1-1-1-1-=-1-=-1-1-=1-
H-900 |[D13| 3 |D13| 3 |De6| 9 |D6| 9 |D6E| 3 |DEB| 3 | —|—|—|—|—|—|—|—|—|—
H=1606 JIp% 3= ID18] 3 1D6f 9 | D6 | 14 D6 i D6l 3 | ==l — | === | =4 ==
H-1100 |D13| 3 |D13| 3 |D6| 9 |D6|(10|D6| 3 |D6| 3 | —|—|—|—|—|—|—|—|—|—
EH= 1200 GiBIESESSHIRA3] 3Thed 9  be | nil et djlied 3] =l = = =li=1 =] s | =|=| =
H-1300 [D10| 6 |[D10| 6 |D6|12|D6|11|D6| 6 |D6| 6 |D6| 9 (D6|12|—|—|—|—|—| —
H-1400 (D10| 6 [D10| 6 |[D6 |12 |D6 |11 |D6| 6 |D6| 6 |D6|12|D6 |12 — | —|—]|—]|—| —
H-1500 [D13| 6 [D13| 6 |D6|12|D6|13|D6| 6 |D6| 6 |D6|12|(D6| 1D | —| —| —| —| — | —
H-1600 |D13| 6 |D13| 6 |D6|12|D6|13|D6| 6 |D6| 6 |De|15|D6 |16 | — | —| —|—| —| —
H-1700 [D13| 6 |[D13| 6 |D6|12|D6|13|D6| 6 |D6| 6 |D6|15|(DE| 15| —| —| —|—| —| —
H-1800 D136 |D13] '6i]l'D6 | 12| D6 | 144 D6 ] 6 | D6 & | D618 |De LIS i=—]—|—| —]| —
H-1900 |[D13| 6 |D13| 6 |D6 |12 |D6|15|D6| 6 |D6| 6 |D6|[18|D6|15| — | —| —| —| — | —
H-2000 (D13| 6 |D13| 6 |D6|12|D6|15|D6| 6 |D6| 6 |D6| 6 |D6|18|D6|[15| — | —|D6| 6
H-2100 |D16| 6 |Di16| 6 |D6|12|D6 |16 |D6| 6 |D6| 6 |D6| 6 |D6 |18 |D6| 15| — | —|D6| 6
H-2200 |[D1e| 6 [D16| 6 [D6|12|(D6|16|D6| 6 |D6| 6 |D6| 6 |D6| 18| D6 |15 — | — |D6| 6
H-2250 |D16| 6 |D16| 6 |D6|12|D6 |16 |D6| 6 |D6| 6 |D6| 6 |D6|[18|D6| 15| — | —|D6]| 6




